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Hhigi 55 R BRI B $R

201343A21H~310 EIFE (87)

(1/5)

HAIFR4A =T 10°CULEFBERR 84 BTG &I 10°CULEFBESUR| 130
B SUm(°C) BEm- EER(n's) (%7K = (rm) HEE B4t SUR(°C) BAm- EE(n's) [k Z(rm HE&
T | & | &E | T8 (&% | &X | B | BE | A@ | BE [185E | 1052 | (h) T | & | &IE | F9 | &2 | &KX | BA | BEE | B@ | Ba | 18E | 105 | (h)

21 9.4 15.4| 51| 2.5 Nw 4.7 Nw 8.8 N\ | 00 00 0.0 108 21 10.7| 15.3] 7.6/ 3.5 NE [ 10.2] N 16. 5| NNE 0.0 0.0 00 10.5
22 6.6|] 17.2| -0.1| 1.8) Nw | 4.9/ nw 8. 1| Nw 2.5 1.5 05 47 22 10.5| 15.6] 6.2| 2 6] N\E 8.3 NW | 13.1] NW 1.0 0.5 05 32
23 10.4| 15.1] 6.1 1.9 Nw 3.8/ N\Ww| 6.0 NW | 00 00 00 o038 23 12.0 16.5 6.7 2.3 N 51 N 8.0 NNE 0.0l 00 00 24
24 1.7 17.9] 8.2[ 1.4 Nw | 45 NwW| 7.5 wew| 00 00 00 07 24 14.3| 18.2] 11.1] 2.2| N 6.4 NNE | 10.3] N 0.0/ 0.0 00 0.7
25 10.3| 14.6] 4.9 2.7 Nw 58] N [ 104 nw 0.0f 00 o060 47 25 13.1] 17.6] 8.9 6.2 N 10.3] NNE | 16.9] NE 0.0 00 00 9.0
26 7.5 15.6] 0.8 1.8 ESE 4| SE 8. 2| ESE 0.0f 00 00 63 26 9.7 14.6|] 6.7 45 N 9.9] N 15.9] N 0.0/ 00 00 45
27 9.7 12.2| 6.5 0.5 SE 1.6| ESE 3.8 E 7.0l 15| 05 o0 27 11.2| 13.0] 8.6| 3.3[ N\E 6.2| NNE 7.5 NNE | 120 25| 05 00
28 14.8| 20.8] 10.7| 1.6] NW | 3.7 SSE 6.3| SSE 0.0f 00 00 28 28 15.9] 20.3| 11.5] 2.9 N\E 6.9 NNE 8.6 NNE 0.0f 00 00 6.0
29 12.9] 17.8] 9.4] 2.3 Nw 4.6] W 7.0 0.0 0.0 0.0 07 29 15.2| 19.2| 12.3 4.7 N 10.2] N 14.0 N 0.0f o0 o0 o4
30 12.4| 22.0 4.0 1.9/ N\w | 4.8] SSE 9.1| SE 0.0 0.0 0.0 11.1 30 13.9| 19.6] 10.0/ 4.2| N\ [ 10.4] N 17.5] N 0.0 0.0 0.0 103
31 11.5| 17.5] 6.0/ 1.5] NW 4 NW | 7.8] W 0.0 o.0f 0.0 1.9 31 13.4] 18.2| 9.5 4.4 NNE | 10.5| NNE | 18.3] NE 0.0 00 o090 1.0
BIEA| 9.7| 16.0 4.8/ 2.1 w 2.5 21.7 BIsEA)| 12.1) 16.6] 8.1 3.4 NN\E 1.0 25.8
#Eq| 1.5 17.7] 6.2] 1.6/ Nw 7.0 22.8 %4 13.2] 17.5] 9.8 4.0 NN\E 12.0 22.2

4| 10.7] 16.9] 5.6/ 1.8 NwW 9.5 44.5 ] 12.7] 17.1] 9.0 3.7 N\ 13.0 48.0
FEE/ | +1.0] +1.1] +1.3 17 88 EEE/L | +0.4] +0.3] +1.0 18 88
BARa &M | 10CULERESR| 55 |BEFA |ER | 10°CLLEFEFSIR| 146
B4 KUR(°C) AR EER(n's) [ 7K 2 (rm) =):] B4t SUR(°C) RElF - ER(n's) B 7K 2 ( rm) A&
T | &e | RIE | F9 | &% | &KX | B@ | BE | B@ | B | 18#E]| 105 | (h) T | &e | &IE | F9 | &% | &KX | BA | BEE | B@ | BE | 18E | 105 | (h)

21 7.2| 14.2] 1.7 13| NE 3.1 ENE 9.2| ENE 0.of 00 00 92 21 1.7 15.9] 8.4 3.7 E 11.6] w | 170 w 0.0 o0 o0 110
22 5.8/ 15.1] -0.2| 1.0| ENE 2.4 NE 55 E 2.5 1.5/ 0.5 4.6 22 1.4 17.7] 6.7 2.4 W 52 N\Ww | 7.5 Nw | 0.0 oo o0 338
23 8.5 12.9] 5.0 0.7 N 2.6] NE 4.5 NE 0.of 00 00 0.6 23 12.2| 17.0] 6.6/ 1.3] w 4.3 E 6.5 ENE 0.0 00 o090 1.1
24 9.8 16.2| 6.2 0.7 NW | 2.6/ ENE 5.3 NE 0.of 0o 00 07 24 14.5| 18.5 11.6] 1.5 w 4.4 E 6.2| E 0.0 00 o090 0.3
25 8.2| 13.3 27| 1.1 ENE 3.2] ssw| 89 ssw| o0 o.0f 00 28 25 14.3| 19.8] 9.7] 4.5 nw [ 11.4 ww | 16.9) ww | 0.0 0.0 0.0 102
26 6.3 13.7| -0.8] 0.8] ENE 2.5 NE 52 NE 0o.of 00 00 57 26 10.7| 14.8] 59| 2.5 nw 8.5/ N\ww | 10.9) N\Www | 0.0 0.0 0.0 438
27 10.1] 12.2| 6.5 0.7] sw 2.7 sw 59/ wsw| 45| 10| 05/ 00 27 11.3| 13.0] 89| 12[ w 3.3 w 55 w | 140 25/ 10| 00
28 13.2| 20.4] 9.4/ o0.6] ENE 3.1 ssw| 6.3 ssw| o0.0] oo o0 32 28 15.7| 21.0| 10.9] 1.5| SE 4.3 SE 6.8 SE 0.0 00 00 68
29 10.9] 16.0] 7.1| 0.6 ENE 2.5 NE 52| NE 0o.of 0o 00 o009 29 15.5| 19.8] 12.5| 2.2| N 52 \\w | 7.8/ N\w| 0.0 o0 00 03
30 10.9] 20.3] 2.6| 0.9 ENE 2.6] NE 56/ E 0o.of 0o 00 96 30 14.5| 20.3] 9.4/ 26| E 6.2l N\Ww| 89 N 0.0 0.0 0.0 106
31 10.0] 16.2] 3.7 o0.7] vew | 2.3 NE 5.3 NNE o.of oo o0 1.4 31 13.9| 18.7| 10.0/ 3.0 N 8.5 N 1.1 N 0.0l 00 o090 1.2
AIEf| 7.9 14.3] 3.1 1.0] ENE 2.5 17.9 BI¥4E| 12.8] 17.8] 8.6 2.7 W 0.0 26. 4
#%¥4| 10.2| 16.5 4.8 0.7 N 4.5 20.8 #w¥4a| 13.6] 17.9] 9.6/ 2.2 w 14.0 23.7

/| 9.2| 15.5| 4.0 0.8 ENE 7.0 38.7 | 13.2] 17.9] 91| 2.4 w 14.0 50. 1
EEE/E | 11| +1.7] +11 12 88 FEEE/L | +1.2] +0.8] +1.9 20 88




Hhigi 55 R BRI B $R

201343A21H~310 EIFE (87)

(2/5)

AR 2 A 10°CULEFEESUR| 134 BB E [ 10°CULEBEESIR| 113
oy SUm(°C) BEm- EER(n's) (%7K = (rm HEE o SUR(°C) Bm- EE(n's) &k =(rm BEE
T | e | =IE | Y | %% | &KX | B@ | BE | B | B [ 1856 | 1052 [ (h) T | &xe | &IE | F | &% | &KX | BR | BE | &R | B [ 18| 109 | (h)

21 11.9] 17.1| 7.0 1.9 SE 4.8 w 10.2| W 0.0/ o0.0f oo0f 96 21 10.2| 18.4| 4.8 0.8 SSE 3.1| SSE 6.9| SSE 0.0/ 0.0 o.0f 85
22 11.6] 17.5] 6.9 1.5 ww 3.5 WW 6.4 E 0.0/ o0.0f o0 49 22 9.3 18.4| 2.6/ 0.5 SSE 3.3 ssw 7.2| sw 0.5/ 0.5 0.5 45
23 12.4| 17.3| 8.0of 1.5 w 3.7 ww 6.6] W 0.0/ o0.0f oo0f o0.6 23 10.8/ 17.0 6.0 0.5 s 2.5| SSE 5.3 SE 0.0/ 0.0 o0 02
24 14.3] 19.9 11.6[ 1.2[ w 2.9| ESE 5.2| ESE 0.5/ 0.5 05 04 24 13.3| 19.6| 10.1| 0.5 SSE 2.3| ESE 53 E 0.5/ 0.5 05 009
25 13.8] 20.5 9.1 1.7 wsw 4.1| ESE 8.9 NE 0.0/ o0 o0 75 25 13.1] 20.0 6.0 0.9 SE 2.9 N 6.8| ESE 0.0/ 0.0 o0 93
26 9.6] 14.9] 3.2 1.2 wsw 3.2| SSE 6.3 SE 0.0/ o0.0f o0 30 26 8.1 13.9| 1.1 0.7 SSE 2.6| SSE 5.6] E 0.0/ 0.0 o0 25
27 11.2] 12.9] 9.1 1.9[ w 3.2 w 5.5 W 1.5/ 2.5/ 0.5/ 0.0 27 10.0] 11.8 7.9 o0.2[ s 0.9| SSE 1.8 SSsE | 16.5| 3.0/ 1.0 0.0
28 15.8| 21.0f 11.2[ 1.7/ w 4 E 7.1l E 0.0/ o0.0f oo 6.7 28 14.6] 20.9] 9.7| 0.6 SSE 2.8| SSE 51 S 0.0/ 0.0 o.0f 28
29 15.6] 20.6| 12.9| 1.4} w 3.1 WW 51 E 0.0/ o0.0f o0o0f 0.0 29 14.0| 19.6| 10.5| 0.5 SE 2.3 S 4.7| SSE 0.0/ 0.0 00 0.5
30 13.5 20.5| 7.4 1.2 sw 3.3 SE 6.4| ESE 0.0/ o0.0f o.0f 10.8 30 13.8| 21.5| 8.5/ 0.8 SSE 3| SSE 6.6| SSE 0.0/ 0.0 0.0 10.1
31 13.5| 19.8] 7.7 1.4 w 3.4/ NE 6.6 ENE 0.of o.0of 00 09 31 12.9] 20.1| 8.4/ 0.6 SSE 2.7| SSE 5.5 SSE 0.0/ 0.0 o.0f 0.3
BIE4A)| 12.8 18.5| 8.5 1.6/ Ww 0.5 23.0 Bi4a)| 11.3] 18.7] 5.9/ 0.6 SSE 1.0 23. 4
#®¥a| 13.2] 18.3] 86| 1.5 W 11.5 21.4 #¥4)| 12.2| 18.0/ 7.7| 0.6 SSE 16.5 16. 2

4| 13.0[ 18.4] 8.6] 1.5 w 12.0 44. 4 4] 11.8| 18.3] 6.9/ 0.6] SSE 17.5 39.6
FEE/ | +0.8[ +0.9[ +1.2 15 78 EEE/H | +1.6] +1.4] +2.5 22 79
BAFmE  |[EXR | 10CUEHESE] 0] |Rame &6 [ 10CU EHRERE] 157
Bt Sm(°C) BEm- EER(n's) [ 7K = (rm) HEE B4t SUR(°C) Bm- EE(n's) (% 7K = (mm) HEE
T | e | &IE | Y | &% | &KX | &A@ | BE | BR | B [ 18/E | 1059 [ (h) Y | &xe | &IE | F | &% | &K | BR | BE | AR | B [18RE | 109 | (h)

21 11.6] 20.5| 6.0 0.9 N 3] wew 8.2| ESE 0.0/l oo oo 7.8 21 13.1] 15.9] 10.9| 1.7 ESE 3.4| ESE 5.8| ESE 0.0/ 0.0 o.0f 7.2
22 10.3[ 19.5/ 5.1 0.5 NN\E 2.5 NNE 5.7 NE 1.5 1.0l 0.5 37 22 12.8| 17.8] 8.2 2.2[ w 22| wew | 12.6[ wsw 0.0/ 0.0 o0.0f 55
23 12.1] 19.0[ 7.3| 0.5 N\\E 1.9 NE 3.7 NNE 0.0/ o.0f oo 1.0 23 13.5] 17.3] 8.3 1.5 ww 3| ESE 5.1| ESE 0.of 0.0 00 30
24 13.8] 21.9] 10.1] 0.5 sw 2.5 Wew 53 S 0.5/ 0.5 05 1.6 24 15.5 18.8 13.1| 1.3[ ww 2.8 E 4.9 NN\E 2.00 1o o5 1.0
25 12.9] 18.9] 7.4 1.2 SE 4.3 ESE | 10.9] E 0.0/l oo oo 7.7 25 15.0] 19.9| 11.7[ 2.4 wsw 5.5 SSE 9.4 E 0.0/ 0.0 o.0f 10.2
26 9.2| 14.4] 3.3 1.0 sw 3.1 wew 5.2] Wew 0.0/ o.o0f oo 1.7 26 11.3] 14.3] 6.9 1.8 Nw 3.7 NE 7.0| NNE 0.0/ 0.0 o.0f 1.0
27 10.8] 13.2| 8.5 0.2 ww 1.5 W 2.7] W | 14.5] 2.5/ 05| 0.0 27 13.1] 15.0] 10.5| 2.4 N 4.3 N 8.2 N 15.5| 50 1.5/ 0.0
28 15.3 21.1| 10.8[ 1.1 wew 3.3 W 5.9] Wew 0.0/ o.0f oo 26 28 16.5] 19.7| 12.0[ 1.5 Www 3| ESE 5. 4| ESE 0.0/ 0.0 o.0f 86
29 14.3] 19.3] 11.2| 0.4 E 1.8 E 52 S 0.0/ 0.0 o.0f o1 29 16.2| 18.7| 13.4| 1.6] Nw 3.5 NE 6.3 NE 0.0/ 0.0 o.0f 0.2
30 14.5| 23.9| 8.4 1.1 sw 3.7 wew 7.2 S 0.0/ o0.0f o0 80 30 14.9] 18.7| 11.9] 1.9 Nw 4.4 NE 7.5] NNE 0.0/ 0.0 0.0 91
31 14.1] 20.9] 9.4 0.6 S 2.8 NNE 6.3 NE 0.0/ o.0f o0 0.5 31 14.9] 18.9 11.4/ 2.1 N 5.3 N\E 9.2| NNE 0.0/ 0.0 0.0 o1
BIEAE| 12.1] 20,00 7.2] 0.7 \N\E 2.0 21.8 B4 14.0f 17.9] 10.4] 1.8 W 2.0 26.9
#%+4| 13.0 18.8 86| 0.7 ww 14.5 12.9 #%¥4)| 14.5] 17.6| 11.0] 1.9 N 15.5 19.0

a| 12.6] 19.3] 8.0] 0.7 wew 16.5 34.7 & 14.3[ 17.7] 10.8] 1.9 ww 17.5 45.9
FEEE/E | 417 421 +2.1 23 85 EEE/ | +1.4] +0.5| +2.3 22 81




Hhigi 55 R BRI B $R

201343A21H~310 EIFE (87)
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BRFmE  |MARK | e EBERE] 15| |[Bmame @6 | 10CU ERESE] 150
oy SUm(°C) BEm- EER(n's) (%7K Z(rm HEE o SUR(°C) BAm- EER(n's) &k Z(rm =k
T | &e | RE | F9 | &% | &KX | BA | BE | &A@ | B | 18#E] 109 | (h) T | &e | &IE | 9 | &% | &KX | BA | BEE | B@ | B | 18E | 105 | (h)

21 10.9] 17.1| 5.6 2.2[ w 4.6 W 10. 0| weW 0.0/ o0.0f o.0f 11.5 21 12.2| 15.6| 8.1 2.5 ESE 6.6 WA 9.3 wWaw 0.0/ 0.0 o.0f 87
22 8.6 15.0[ 2.6 1.7[ ww 4.7 Ww 8.0l W 0.5/ 0.5 05 209 22 12.2| 18.6| 7.5 2.0 ww 9.2 w 15.9] W 0.0/ 0.0 o0.0f 56
23 11.7] 17.2| 6.0] 1.4 wew 2.7 WewW 5.1 NW 0.0/ o0 o0 22 23 13.0] 17.6| 7.2 1.7[ ww 4.5| ESE 6.5 ESE 0.0/ 0.0 o0 27
24 12.7] 19.0[ 10.2[ 1.1] wew 3.4 WW 5.7 WW 1.0l 0.5 05 0.7 24 14.8| 18.5 12.5/ 1.3[ ww 3.6 E 54| E 2.00 1.0 0.5 0.1
25 11.4| 16.7| 5.2/ 3.0 Www | 63 Nw | 104 Nw 0.0/ oo o0 77 25 14.3| 20.8] 9.7 3.1 wsw 6.9] wWew | 11.5( Nw 0.0/ 0.0 o0 95
26 8.4 13.8/ 1.1 1.8 E 3.1 E 7.0 E 0.0/ 0.0 o.0f 1.1 26 10.4| 13.7| 5.4 1.7 ww 3.5 ESE 6.2| ENE 0.0/ 0.0 o0 1.0
27 11.6| 14.4] 8.9 1.4 ENE 3.2| ENE 6.5| ENE | 11.0[ 2.5 1.0 o.0 27 12.4] 14.4] 9.8 1.2 Ww 2.7 NW 4.6 N 150 3.0/ 1.0/ 0.0
28 16.1| 22.5 11.8[ 0.9 sw 3.4 sSw 5.7 SSW 0.0/ 0.0 o.0f 41 28 16. 1| 20.5 11.3| 1.7 ESE 4. 4| ESE 6.5| E 0.0/ 0.0 o0.0f 7.0
29 13.3] 18.1] 9.8 1.4 w 3.2 W 51 W 0.0/ o0 o0 0.3 29 15.6| 19.2| 12.4| 1.4/ E 4.2| ESE 6.0/ E 0.0/ 0.0 o0.0f 0.4
30 13.8] 23.4| 5.0 1.3 E 3.6 E 6.6] E 0.0/ o0.0f oo0f 96 30 14.2| 18.6| 10.6| 1.9 W 5.6| ESE 8.0| ESE 0.0l oo oo 93
31 13.3| 19.6|] 7.7 1.4 s 5.2 N 7.8 NW 0.0 o0 o0 24 31 14.4| 18.9| 10.7| 1.5 ESE 4.5 E 6.3] E 0.0/ 0.0 0.0 0.1
4| 11.1) 17.0] 5.9 1.9/ w 1.5 25.0 BIEA)| 13.3] 18.2] 9.0l 2. 1| ww 2.0 26.6
#3a| 12.8| 18.6] 7.4 1.4 E 11.0 17.5 #%$4)| 13.9] 17.6] 10.0| 1.6] Ww 15.0 17.8

| 12.0] 17.9] 6.7 1.6/ W 12.5 42.5 a][ 13.6] 17.9] 9.6 1.8 ww 17.0 44. 4
FEE/ 1.1 +1.2] +1.2 16 79 SEEE/E | +0.9 +0.2[ +1.7 21 81
BAFRE | | e t#EEsE] 117  |[mame =8 [ 10CUERESE] 154
o Sm(°C) BEm- EER(n's) (7K = (rm) HEE B4t SUR(°C) Bm- EE(n's) [ 7K = ( rm) HEg
T | &e | &IE | Y | %% | &KX | &A@ | BE | BR | BE [ 185/E | 1052 | (h) Y | &xe | &IE | FY | &% | &X | BR | BE | AR | B [ 18RE | 109 | (h)

21 11.8] 17.9] 8.0] 2.7 ww 57| ww | 10.8] NW 0.0 o.0f 0.0 11.3 21 12.5 16.2] 9.1 3.1 w 7| wew | 10.8[ wew 0.of o0 o0 9.6
22 9.8] 16.2] 4.1 2.6 ww 6.3 WW | 11.6] wWw 0.0/ 0.0l o0 46 22 12.6] 19.3] 7.9 2.9 ww 7.9 w 12.4f W 0.of o0 o0 56
23 12.4/ 17.4] 7.9 2.5 W 4.3 w 8.5| WwW 0.5 0.5 0.5 23 23 14.0[ 18.5] 9.6] 2.7 ww 53 E 7.8 ENE 0.00 0.0 o.0f 37
24 12.9] 17.9] 10.7] 2.2 ww 4.9 w 7.8 NW 1.5/ 0.5 05 0.5 24 14.7| 181 12.7] 1.8 ww 37| Ww 5.5 WW 2.5 1.0l 0.5 0.0
25 1.8 17.2] 6.9 4.1 Ww 8| NNW [ 13.0] N\W 0.0/ o0 o0 95 25 14.8| 20.7| 10.5| 4.8 w 8.5 w 13.2] W 0.0/ 0.0 0.0 10.1
26 8.7 13.0 2.8 2.6 SSE 5.3 WW 8.1 w 0.0/ o0l o0 1.2 26 10.9] 13.8] 6.9 2.6/ Nw 5.1 ENE 7.6| ENE 0.0/ 0.0 o.0f 1.0
27 10.7] 12.4] 8.4 1.3 SE 3.7 SE 6.0/ SE | 16.5| 3.0 1.0 0.0 27 12.2| 140 9.7 1.7] ww 3.8 N\E 6.2| N\\NE | 23.5| 3.0 1.0 0.0
28 15.8] 22.1| 11.9| 2.2 SSE 4.2 W 6.3 W 0.0/ o0.0f o0 46 28 16.3| 20.6| 12.4| 2.4 ww 4. 4| ESE 6.4 SE 0.0/ 0.0 o.0f 57
29 14.3] 18.8] 11.3] 3.0 ww 4.9 Ww 7.7 WW 0.0/ 0.0 o.0f o4 29 16. 4] 19.6 13.9] 2.5 ww 4.5 WW 5. 4| ESE 0.0/ 0.0 o.0f 0.9
30 13.7] 22.3] 7.5 22| SSE 5.3| SSE 8.8 SE 0.0/ o0 o.o0f 7.7 30 14.9] 18.4] 11.4[ 2.3[ ww 5.2| ESE 8.0l E 0.0/ 0.0 o.0f 10.0
31 14.0] 20.0] 9.7 2.1 ww 4.6] N\NW 7.6] WW 0.0/ o0 o0 20 31 14.6] 19.3| 11.1] 2.8[ ww 5.7 ENE 8.1 N 0.0/ 0.0 0.0 o0.1
AiEAE| 1.7 17.3] 7.5 2.8 Ww 2.0 28.2 B4 13.7] 18.6] 10.0[ 3.1 WW 2.5 29.0
#®EH| 1229 18.1] 8.6 2.2 ww 16.5 15.9 #E4q| 14.2[ 17.6] 10.9] 2.4 ww 23.5 17.7

al 12.4f 17.7] 8.1] 2.5 ww 18.5 44.1 | 14.0f 18.0[ 10.5] 2.7 ww 26.0 46. 7
EEE/H | +1.0[ +0.6] +1.9 28 64 FEEE/ | +0.9] +0.5| +1.7 33 82




Hhigi 55 R BRI B $R

201343A21H~310 EIFE (87)

(4/5)
BUAIRT 4 'S 10°CULLFEHESUR| 156 BURIFTE |FRiL 10°CULEFEHESUR| 157
oy SUm(°C) BEm- EER(n's) (%7K Z(rm HEE o SUR(°C) BAm- EER(n's) &k Z(rm =k
T | e | =IE | Y | &% | &KX | B@ | BE | Bm | B [ 185/E | 1052 [ (h) TY | &xe | &IE | F | &% | &KX | BR | BE | AR | B [ 18R | 109 | (h)
21 12.6] 15.7| 9.6 2.5 ww 6] WNW | 10.3] WW 0.0/ o0.0f o0 38 21 12.6] 15.9] 9.5 4.2[ w 8.4 W 1.3 W 0.0l ool o0
22 12.2| 16.9] 8.4/ 1.5 w 3.5 ESE 6.2| ESE 1.0l 1.0l 0.5 6.0 22 12.8| 19.6| 7.6 3.4 ww "l w 15.4] W 0.0/ 0.0 0.0
23 13.9] 18.5 9.5 1.9[ w 4.5 Ww 7.3 NW 0.0/ o0 o0 63 23 14.4| 18.1] 10.1| 3.9 w 8.3 W 10. 3] WA 0.0/ 0.0 0.0
24 14.8] 17.5| 12.9[ 1.2[ ww 2.4 WW 4.4 waw 3.5 1.0 05 00 24 15.0[ 17.9[ 12.9] 2.0 Nw 4.4 W 6.7/ N 1.5/ 1.0l 0.5
25 15.0| 20.4| 11.0[ 3.0[ ww 6.2 Ww [ 11.4[ ww 0.0/ o0.0f oo 94 25 14.9| 20.8 10.3] 6.3 W 10.5] W 13.9] wew 0.0/ 0.0 0.0
26 11.2| 13.7| 7.6 1.8[ ww 3.2 ww 5.6/ W 0.0/ o0 o0 009 26 11.3] 14.4 6.7 3.3 w 6.3] W 8.7 W 0.0/ 0.0 0.0
27 12.6] 14.2[ 10.5] 2.6[ ww 3.9 ww 6.2] Ww | 26.00 35 1.0 o0 27 12.5| 14.3] 10.1| 3.3 w 9] NNE | 11.3] NNE | 24.0[ 4.5/ 1.5
28 16.5| 19.7| 13.4[ 1.5 w 3] WW 5.1 WW 0.0/ o0.0f o0 58 28 16.4| 20.1 12.5/ 2.1 ww 3.7 E 5.7 NNE 0.0/ 0.0 0.0
29 16.3| 19.5 13.4[ 1.4} w 2.8| ENE 5.3| ESE 0.0/ o0.0f oo o0.8 29 17.0| 19.9| 14.0 2.8 E 5.3 Ww 6.7 W 0.0/ 0.0 0.0
30 15.3] 18.3] 12.0] 1.8 W 4| ESE 6.5 E 0.0/ o0.0f o.0f 10.3 30 15.4| 18.5| 12.3| 3.4/ E 8.3 NE 9.8 NE 0.0/ 0.0 0.0
31 15.4] 19.0| 12.0] 1.4 E 3.1 E 6.8 NW 0.of o0.0of 00 00 31 15.1| 18.8| 11.9] 4.1 NE 10.2| NE 12.3] NE 0.of o.of 00
BIEA)| 13.7] 17.8/ 10.3] 2.0 ww 4.5 25.5 B4 13.9] 18.5| 10.1| 4.0/ W 1.5
#24q| 14.6] 17.4] 11.5] 1.8 ww 26.0 17.8 #¥4q| 14.6] 17.7] 11.3] 3.2 w 24.0
a]| 14.2[ 17.6] 10.9] 1.9 ww 30.5 43.3 4| 14.3] 18.0] 10.7] 3.5 W 25.5
EEE/ +1.0| +0.4[ +1.6 32 82 EEE/H | +1.0] 0.0 +2.1 43
BAIRTA B 10°CULEFEHESUR| 136 BBIFRE R 10°CULEFBHESIR| 160
B4t Sm(°C) BEm- EER(n's) (7K = (rm) HEE B4t SUR(°C) Bm- EE(n's) (% 7K = ( mm) =k
T | &a | &IE | Y | &% | &KX | B@ | BE | BR | B [ 18/E | 1059 [ (h) Y | & | &IE | FY | &% | &K | BR | BE | AR | B [18RE | 109 | (h)
21 11.9] 19.0[ 5.8/ 1.7 ssw 4.5 ssw 8.0 ssw 0.0/ o0.0f o.0f 10.9 21 13.1] 17.6] 8.9 3.7 ww 8.9 ww [ 12.2[ ww 0.0/ 0.0 0.0 7.1
22 10.8| 18.5| 4.5 1.1 ssw 4.2 wew 8.7 w 2.0l 1.5 05 50 22 12.8] 20.0 7.9 2. 9] ww 7.8] wWew | 12.1] wew 1.of 1.0l o5 45
23 13.2] 19.7] 8.1 1.2 wew 3.7 sw 6. 4| SSW 0.0/ o.0f o0 43 23 14.4] 18.9 10.1| 2.8[ ww 5.1 Ww 6.8 NW 0.0/ 0.0 o.0f 42
24 13.8] 18.4| 11.2| 1.1 w 2.7 NE 4.5 NE 2.5 0.5 0.5 0.3 24 14.9] 18.9 13.2[ 2.1 ww 4.7 WW 6.2 NW 40 1.5 05 00
25 13.2] 19.1] 7.8 2.4 w 4.9 N 9.8 Www 0.0l 0.0 o.0f 10.1 25 15.5] 20.9| 10.9] 4. 3[ ww 7.9 w 122 W 0.0/ 0.0 0.0 10.1
26 9.9 15.6] 4.4 2.2 N\E 4.9 NNE 7.2 NNE 0.0/ o.o0f o.o0f 1.8 26 11.8] 15.0] 8.0 3.1[ ww 5 WW 9.9 E 0.0/ 0.0 o0.0f o0.6
27 11.7] 13.7] 9.2 2.0 N\ 52| NNE 9.4/ N | 210 35 1.0/ o0 27 13.1] 14.9] 11.0[ 3.0[ ww 5.2 NW 8.3l W | 28.0 45/ 20| o0
28 16.5| 22.6| 11.1| 1.4 N 3.9 sw 6.1 SSW 0.0/ o.0f o0 3.3 28 16.8| 20.8 12.7| 2.9 E 6.6|] E 9.0| ENE 0.0/ 0.0 o.0f 53
29 15.5] 19.8] 12.5] 1.2 sw 3.3 sw 5.5 SW 0.0l o.0f oo 1.2 29 16.5| 20.0 14.1| 2.6] Ww 4.8 W 5.9 WwW 0.0/ 0.0 o.0f 0.2
30 14.6] 23.0 8.5 1.3 NNE 4.9 ssw 7.7l S 0.0/ o.0f o0 88 30 15.7] 19.4] 12.4[ 3.1 ww 6.3| E 9.2 E 0.0/ 0.0 0.0 10.1
31 14.6] 20.7| 10.9] 1.3 NN\E 3.6] NNE 5.7] NNE 0.0/ o0 o.0f 10 31 15.7 19.8 12.0[ 2.9 ww 6| ENE 9.8 ENE 0.0/ 0.0 o.0f 0.0
A4 12.6] 18.9] 7.5 1.5 ssw 4.5 30.6 B 14.1) 19.3] 10.2| 3.2 Ww 5.0 25.9
#®E4q| 13.8] 19.2| 9.4 1.8 N\E 21.0 16. 1 #E4q| 14.9] 18.3] 11.7] 2.9 ww 28.0 16. 2
4| 13.2] 19.1] 8.5 1.5 N\E 25.5 46.7 | 14.6] 18.7] 11.0] 3.0 Ww 33.0 42.1
EEE/EE | +1.2] +1.7] +1.3 35 92 FEE/ | +0.8] +1.0] +1.1 36 87




Hh iz 55 R BRI B 4R

20134%3A21H~310 EIZFE (87)

BAIRTA | 10°CULLFEHESUR| 154
a4 KUR(°C) R EE(ns) %7K E(mm S]]
Ty | & | RE | Y | &% | &KX | BA | BE | &A@ | B | 18#E]| 102 | (h

21 122 17.1] 7.6/ 1.7 ww | 51w 10.1| ww | 0.0/ 0.0 o0.0f 10.6
22 1.6 17.2| 5.4 1.7 N 6.5] W 9.9] w 1.0/ t1o| o5 53
23 14.4| 19.3] 10.4] 1.5 w 4.5 wew | 7.0 w 0.5 0.5 05 56
24 14.3| 18.2| 12.3] 0.8 wew | 2.7 wew | 4.2| sw 300 1.0 05 o0
25 14.4| 19.8] 9.7| 2.4 w 6.6/ w | 120 w 0.0 0.0 0.0/ 10.1
26 11.2| 15.6] 4.9] 3.0/ NE 5.8 NE 9.9 NE 0o.of 00 o090 23
27 13.0] 14.9] 11.1] 1.8 N 4.2 NE 7.6 N | 23.0] 35 10 o0
28 16.3| 21.6] 11.0] 1.2 NE 3.5 NE 6.1 ENE 0o.of 00 o0 34
29 15.9] 20.2| 12.5| 1.5 W 4.2 wew | 6.1 w 0.0of 00 00 0.6
30 15.2| 20.6] 10.9] 1.9 NE 4.4| ENE 6.9 ENE 0.of 0.0 0.0 104
31 15.0] 20.1| 10.8] 1.8 NE 4.3 NE 7.7 NE 0.0/ o0 0.0 o0.2
mika| 13.4| 18.3 9.1 1.6 w 4.5 31.6
#%3a| 14.4) 18.8] 10.2| 1.9 N 23.0 16.9

4| 14.0] 18.6] 9.7 1.8 N 27.5 48.5
FaEE/H | +0.9] +0.8[ +1.3 38 93
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Hh 15 R E HUR R

20134E3H21H~310 EIFE (87)
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AR 4 HZz% B33 bl :] HEZE fBE ZU0D
[ 7K = (mm) [ 7K = (mm) [ 7K = (mm) [ 7K = (mm) (%7K = (mm) %7K & (mm)
U ot [ SR TBE ast [rau[ BT BRN] st [wau] Bnt [BR00] ant [reu] SR TBR] ast [eau[ BXTERN] agt [au] Bn) [BEY)
21 0.0 0o 00| o0 00| 00| o0 00| 00| o0 00l 00| o0 00/ 00| o0 00| 00
22 15 10 05 10 05| 05/ 05 05] 05 20 1o o5 00 00/ 00| 30 15| 05
23 0.0 0o 00| o0 0o 00| o0 00| 00| o0 00l 00| o0 00/ 00| o0 00| o0
24 0.0 0o 00| o0 00| 00| o0 00| 00| o5 05| 05| 05 05 05| 40 15| 05
25 0.0 0o oo 00 00o[ oo o0 0o oo 00 0o oo 00 0o o0 00 00 00
FHH/BA 15 // 10 05 10 3| os] o5 05 2| o5  os] 25 // 10 o5 05 7 BE 7.0 13 15| 05
26 0.0 0o 00 o0 0o] o0 o0 0o oo 00 0o oo o0 00 o0 00 00[ 00
27 135 3.0 10| 145 25 10| 135 25 10| 100 20 05[] 150 40 10| 210 40 1.0
28 0.0 0o oo o0 05/ oo 00 05/ o0 00 00o] o0 o0 00o] 00| o0 0o o0
29 0.0 0o 00 o0 0o o0 o0 0o[ o0 o0 0o] o0 o0 0o] o0 o0 0o o0
30 0.0 0o 00 o0 0o o0 o0 0o] o0 o0 0o] o0 o0 00o] o0 o0 0o o0
31 0.0 0oo] 00 o0 0o] o0 o0 0o] o0 o0 0o] o0 o0 0o] oo o0 0o o0
$ast/BA| 135 s/ 30 10 145 40| 25 10| 135 43 25 10 100 /[ 20 05[] 150 /[ a0 10 210 T 10
a5t 15.0 // 155 22 14.0 22 125 // 15.5 // 28.0 24
a5k 13.5 30 10| 145 25 10| 135 25 10 100 20/ 05| 150 40 10 210 40 1.0
#2H 27 27 27 27 27 27 27 27 27 27 27 27 27 27 27 27 27 27
AL B B EE \LiE e
Iﬁ?k%(:m) _ Kﬁ?l(%(:m) _ K§7K§(:m) _ Kﬁ*%(;nm) _ Iﬁﬂ(%(:m) _ lﬁ*%(:m) _
A et [raree[BATTBE| mir [wae o [0 st [wes| nd [BR0] mat || ShT [BX10] mar [mau] irl [BX10] aat [Fa] oy [y
21 0.0 0o 00| o0 0o 00| o0 0o 00| o0 0ol 00| o0 00| o0
22 0.0 0o 00| 05 05 05/ 00 00| 00 1.0 05] 05| 35 25 1.0
23 0.0 0o 00| o0 0o 00| o0 0o] 00| o0 00of 00| o0 00| o0
24 25 05 05 25 10 o5 20 05] 05 30 10 o5 50 15 15
25 0.0 oo 00| o0 0o 00| o0 00o] 00| o0 00o] 00| o0 00| o0
FAE/RK 25 // 05 0.5 3.0 8 1.0 0.5 2.0 6 0.5 0.5 40 // 1.0 0.5 8.5 18 25 1.5
26 0.0 0o 00| o0 0o 00| o0 00o] 00| o0 00o] 00| o0 00| o0
27 215 35 10 170 25| 05| 160 25| 05| 220 35 10[ 270 40 1.0
28 0.0 0o 00| o0 0o 00| o0 00| 00| o0 00l 00| o0 00| o0
29 0.0 0o 00| o0 0o 00| o0 00| 00| o0 00l 00| o0 00| o0
30 0.0 0o 00| o0 0o 00| o0 00| 00| o0 00] 00| o0 00| o0
31 0.0 0o 00| o0 0o 00| o0 00| 00| o0 00l 00| o0 00| o0
$a5t/8K| 215 /| 35 10 170 43 25 05| 160 40 25 05| 220 /| 35 10[ 270 51 40 1.0
A5t 24.0 // 20.0 27 18.0 24 26.0 // 355 35
Ak 215 35 10 170 25| 05| 160 25| 05| 220 35 10[ 270 40 1.5
A2 H 27 27 27 27 27 27 27 27 27 27 27 27 27 27 24
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Hhigi SR EA A W KEHE)

TIFE (87) 2013438
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A4 =T oL L] R B @ 24P ARE =ih AR ik R = & il ARk JHE £l
) SEHy 9.9 12.2 8.7 12.8 12.3 10. 9 11.8 13.9 11. 4 13.1 12.1 13.8 14. 1 14. 2 12.9 14.5 13.8
SEEE 1.6 1.1 2.1 2.1 1.3 2.1 2.3 2.2 1.9 1.7 2.1 1.9 2.1 2.1 2.2 1.9 2
X 24.7 23.5 22.7 25. 1 27.7 26. 6 26. 1 28.5 26. 6 27.5 25.2 26.9 27.2 27.3 26. 1 25. 6 25.2
A 19 8 19 10 10 9 19 9 19 9 19 9 9 9 19 9 10
xIE -3.0 2.4 -3.7 0.3 -0.2 -2.9 -0.9 2.9 -1.7 0.4 0.0 3.2 4.4 3.4 -0.2 3.2 1.5
f =] 15 4 6 3 15 4 6 15 6 6 5 15 6 15 4 6 5
o) 16.9 17. 4 15. 8 18.6 19.3 19.3 19. 4 18.9 18.3 19.0 18.5 19. 1 18.9 19. 2 19.7 19. 4 19. 1
RaTEE 2.3 1.5 3.4 2.4 2.8 3.3 3.4 2.6 2.8 2.2 2.8 2.4 2.6 2.4 3.3 2.6 2.3
RIEFE 3.5 7.4 2.4 7.5 6.5 4.1 6.2 9.1 5.0 7.5 6.6 9.1 9.8 9.4 7.2 10.0 8.5
RIEFEEE 0.8 0.8 1.1 1.8 0.7 1.5 1.9 2.2 1.1 1.4 1.6 1.9 1.9 2.0 1.7 1.6 1.8
BERER 182 302 166 345 316 276 303 394 267 355 311 381 410 422 350 420 402
P SE0°C K i H 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
E4525°CLLE B3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
= 0°C i B # 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
B5=25°CLL EHE 0 0 0 1 1 2 2 3 1 2 1 3 2 4 1 1 1
HE30°CLLE B 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
HE35°CLLE B 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
F&IE0°CK it B3 10 0 11 0 1 7 1 0 4 0 0 0 0 0 1 0 0
H{E25°CLL E B3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
=] A&t 184. 4 182. 3 158. 2 199. 7 195. 7 177.2 136. 0 197. 3 178.9 195. 1 189. 7 193. 8 185. 8 178.9 170. 6 186. 1
it SEELL 124 109 126 115 112 112 112 113 112 115 100 110 116 115 115 118
0. 1RFREIRH H 21 2 2 2 1 2 2 3 1 4 1 2 2 3 1 3 2
)i SRR 2.1 3.7 1.1 2.9 1.7 0.7 0.8 2.4 1.9 2.3 2.9 3.5 2.1 4.6 1.8 3.5 2.3
A T KRR 8.4 15. 4 6.5 13.8 7 4.1 5.1 9.1 7 10. 4 8.1 11.8 7 14.2 8.4 12 10
: i KRR A ] NW N SSW N NE NNE| VS NNE| =N W N\W W VAW SSW VSW
I HEH 10 13 18 14 14 10 19 14 18 10 4 10 1 20 18 20 10
= e A B i JRL R 15.7 24.4 14. 7 19. 6 13.2 12.9 1.1 16. 6 13.7 17.1 15.9 18. 4 13.5 18 14.9 19. 1 15. 2
i A B ] R L ) NW NE S N SSW N S NNE| VS W Ssw W VAW Ssw =0
=] 10 14 10 14 13 10 4 14 4 10 18 10 10 10 18 10 10
% AR N NNE NE W SSE NNE VW VAW WAV VAW WAV = VAW NE
10nYs L E B3 0 11 0 5 0 0 0 0 0 1 0 4 0 15 0 2 1
15m/s L E B3 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20m/s Lk B # 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
30m/s Ak B 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
[ A&t 45.0 38.0 65. 0 33.5 40.5 59. 5 101. 0 58. 0 103. 5 54.5 100. 0 49.5 73.0 45.0 76.5 93.5 85.0
TELH 33 22 42 20 23 31 55 32 55 29 57 27 32 29 43 43 49
7K AXHBEKE 12.5 17.5 23.0 14.0 20.5 24.0 37.5 20.0 35.5 15.0 27.5 23.5 26.0 24.0 21.0 28.0 26.5
¥ H 1 18 1 27 18 18 18 18 18 27 18 27 27 27 27 27 18
= mAIEEEKE 6.5 7.5 7.0 5.0 10. 5 9.5 16. 0 14.0 18.0 10. 0 11.0 7.0 9.0 6.5 10. 5 12.0 15.5
E£H B 18 11:58] 18 13: 11| 13 15:42| 18 11:10] 18 13:19] 18 12: 51| 18 12:51| 18 13:49] 18 12:33] 18 13:40[ 18 10: 21| 20 10:20] 20 10: 06| 20 10: 06| 18 11:32] 20 10:46] 20 10: 28
=AR1050EREKE 3.0 4.0 3.5 1.5 3.0 2.5 5.5 6.5 6.5 3.5 4.0 2.5 3.0 2.0 4.5 7.0 8.5
EH By 18 11:57] 18 12:38] 18 11:47| 18 12:37] 18 12:36] 18 12: 43| 18 12:36] 18 13:23] 18 12: 19| 18 13: 05 20 08: 33| 18 13:29] 20 09: 56| 20 09: 20 13 13:59] 18 13:23] 20 09: 54
inmd £ B # 6 6 6 4 3 4 6 6 6 6 6 6 7 6 7 8 7
10mmil £ B3k 2 2 3 2 2 3 5 3 5 3 5 2 3 2 4 4 3
30 EHE 0 0 0 0 0 0 1 0 1 0 0 0 0 0 0 0 0
50mmil kE Bk 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
70mil E Bk 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
100mmil E H 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
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Hhi R E BRI A MREHE)

=R (87) 201343
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A4 Bz% #IR k%] X = ZUD =R FR = 1L 23]

A&t 405 485 315 104.5 53.0 196.5 106.0 89.0 715 83.5 120.5
AL // 30 22 // // 70 // // 41 // 48
mABRKE 13.5 14.5 135 40.0 18.0 60.5 33.0 285 21.0 22.0 29.0
=] 27 27 27 18 18 18 18 18 18 27 13
FA1ERERFKE 6.0 5.0 4.0 12.0 7.0 215 15.5 12.0 14.5 9.5 135
2R B 18 12:11 18 10:54 18 11:03 18 11:59 18 12:31 18 12:26 18 12:53 18 13:32 18 13:34 20 10:00 13 15:37
wA102EEKE 3.5 15 1.0 3.0 20 8.5 55 5.0 55 3.5 5.0
El By 18 12:05 18 10:16 27 04:09 18 11:36 20 08:24 13 12:24 18 12:43 18 12:57 18 13:02 13 15:16 13 14:52
1mmEl £ B 6 6 4 7 5 7 6 6 7 7 7
10mml £ B # 2 2 2 5 3 5 4 4 4 4 5
30mmEl £ B 0 0 0 1 0 3 1 0 0 0 0
50mmiL £ H# 0 0 0 0 1 0 0 0 0
70mmiA £ B#k 0 0 0 0 0 0 0 0 0 0 0
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